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1) Ag(r) =0, ¢(BMR 1 DFEM) = ¢1, ¢(EM 2 DEM) =0,

DIFE ¢y (r) 1%, o IZHH (¢ Z 25T UL, o1(r) B 21517
5. ) &, BHRRHOEMO A, (FE=-Ve, E=0/c.)
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(2) Q1 =Cunor, Q2=0C0.
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3) Ap(r) =0, ¢(ER 1 DEM) =0, ¢(EME 2 DEIF) = ¢,
DIFE po (1) 1, oo ITEEHI, D F D,

(4) Q1= Ciaga, (2= Cxnops.
o¢pr#0, ¢ #£0 & LTHA,

5) Ap(r) =0, ¢(EMEK 1L DEI) = ¢y, ¢(EME 2 DEMH) = ¢o,
DL o(r) = ¢1(r) + ¢a(r). HE2 T,

(6) Q1= Cnor + Ciaga, Qo= Copr + Crda.
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9) @1 =C1¢1+ Craps + Ci303,
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Q1=0&T 5 &, DD EDTEMER2 ONERICES 134 <,
FHEAL DFD, 1= (@) LD,

(10) 0= (Ch1 + Cl2)ps + C1303 .

ZHUIMTED ¢y, ¢3 IZDWTHILT B DT,
(11) Cii+Ci2a=0, Ci3=0.
Q) ITfAAT B L,

(12) Q1= Ci1(d1 — ¢2) .
DX HIz, BR2 2L T, =08E7 5 &,
(13) Q1 =C11¢1 .
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2.10.2 MEXEE

(14) Cij = Cj; FH e B

cifEH: n =2 DEEEFEZ 5.
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(15) Ue = %(Q1¢1 + Q202) .
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Q= Q1 +60Q, L L7-EED U, DEALIX, 6Q, D1IXRFETT,
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(23) P1 — G2 = Q.



= (2.8.1) &g L T,

_ C11Co — C%,
Ci1 + O +2C15

(24) C



	subsection {ÀÅÅÅ(ÅÅµ¤)ÍÆÎÌ·¸¿ô¤ÈÁêÈ¿ÄêÍý}

